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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ faug-smeaies 'q-\ﬂ'&I'UT (Qﬁﬁa?
TRAURARE) _ GRI=Uifdpd far a1 AT

1. Eysenck and Allport / KNENCY 3R 3fTeare
2. Galton and Kretchemer / 7TeC 3R HIR

3. Jung and Sheldon / ?EET Gﬁ? t-\3|@7—|
4. Murray and Morgan / W 3R A=

Correct Answer :-

« Murray and Morgan / W 3R A

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 39 U Jrafafped® g1 7 91d & 9301 Bl 3ifewd & Nifgd g9 &1 31 uTl
AU 5T 1P B! 3fipad & forg v Afére Adgne & @ & fou
W11 e A agfAe 3mus) ue Ui Herdr 8 Siv 3mus) S9H 34 arel
ey IH T B AT B U B AP dT 8 | ST dipd, Fufafaa &
¥ f5a &7 § g1 &1 "aifie JHTar g2

1. Oral presentation skills / IIRCEY mﬁf AN
2. Verbal concept formation/ MR TYRUT T3

3. Block design/ ilh ITS\YII%"I

4. Abstract thinking/ &ﬂ:ﬁ i)

Correct Answer :-



. Block design/ sl fSolTgH

3) Gender is determined while sex is determined. /f%i"T

Fudfuiasadweafedsm wsudfuiRasard

1. Socially, Culturally / gHITS ,Hi%ﬁ?l?ld’)

2. Biologically, Socially / oifd ,HIHIRﬂOb

3. Biologically, Environmentally /@W,@W
4. Culturally, Biologically /aipia® ,Sifaw

Correct Answer :-

. Culturally, Biologically /aipfd® ,Sifaw

4) A set of rules that helps us to derive meaning is known as: / o &1 U

e ot g¥ ordf fFiw1e o U #var g, e & & o ST S 8:
1. Sentences / AT

2. Phonemes / B

3. Words / Rleq

4. Semantics / D

Correct Answer :-

« Semantics / ?ﬁﬂ%

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ IERIRY:T

3T TG TSP §, St STHAIYT T PG BT Hal & Forad v
=T A IR DI SAreT a1 ge T a3 | frarst & ogarR, #1 dt
IUHETHSD &1 B2 Y YR IAsE & e 99701 82

1. Decenter/ ﬁw

2. Conservation/ G&UT

3. Logical reasoning/ SIEES] (ﬂTIr\\IIObﬂ JIS)

4. Reversibility/ o



Correct Answer :-

« Logical reasoning/ SIS (Q1Tlr\\ﬂ0bc1 IS

6) By three years, the child is able to speak /a9, g=n

e # Qe T gl

1. Syllables / &R

2. Grammatically complete words / HATHRIVID T q;UfW

3. Words / Rleq

4. Functionally complete words / HATHS =0 I q:UfW

Correct Answer :-

- Functionally complete words / PIHD &G EUTQ'IE

7) According to Abraham Maslow, is the summit of human motivation.

/ SSTEH Ul & S9N, HIFd YT &} URTHTRT
1. Safety need / {R&T CARCICEIET|

2. Love and belonging need / GGdl Td e DI MIGDHdl
3. Need for Self-actualisation / MH-RIfg BT SMagH T
4. Esteem need / T &1 SHTARIdhdl

Correct Answer :-

« Need for Self-actualisation / W—I%l@ ARG O]

8) What type of memory processing involves focusing on the superficial
characteristics of an object? / fHd YHR Bt Wﬁf o1 ¥ fobdt a¥yq 4|
Hag! faiyar wR = Hfad w1 WA 72

1. Deep level processing / TTRT TR AT

2. Partial processing / 3HiTRIH TqTe

3. Elaborative processing / ﬁﬂﬁ BIRSIEE

4. Shallow level processing / SUTT TR JHTUT

Correct Answer :-



. Shallow level processing / 3YdT TR JATYT

9) What principle of learning is observed when a child does well in an exam

because he was promised a new phone? / 3fferTH Waﬁﬁwﬁmﬂﬁﬁmm
8 o1g g forelt udten o 3res1 ueRlH wedr g wife 39 Us A¢ Wi &1 aral
forar T U2

1. Negative reinforcement / THRIA® TG

2. Negative punishment / TP IRIHD qUs

3. Positive punishment / P RIHD qUs

4. Positive reinforcement / D RIHD g"IGICQ'H

Correct Answer :-

« Positive reinforcement / D RIHD E_I;'Idrﬂ"l

10) What is the unit of heredity? / Gﬂﬂa'm 3| ng 182
1. Zygote / JTHAS
2. Gene / SIIH

3. Fertilized cell / FISfId BIfRTAT
4. Chromosome / ﬁjﬂ@ﬂ

Correct Answer :-

. Gene/\_rﬂ:[

11) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / Udh d][ 3 HTH
BT ¢ TP R I8 HdT § dl IW didbale A RIpd fHaT AT
FTpele BT qUH B & [T B e BT SUFRT fovam S 82

1. Operant conditioner / fhaTIGd 3fIdedh
2. Punishing stimulus / g8 REALCD
3. Reinforcer / Udcidh

4. Neutral stimulus / dC®f 3 ‘E'?I U



Correct Answer :-

. Reinforcer / Udcldh

12) Trail and error method was put forth by: / Wdd dYT ﬁﬁ' fafyr 3?%7 GIR1

ufarfed &1 7s:
1. Thorndike / USSP

2. Kohler / W
3. Piaget / foars

4. Pavlov / W

Correct Answer :-

. Thorndike / USSP

13) A student who completes tasks to earn marks is motivated by:/ Th BT 1

3 3iffd B & g Hrf T a1 8, 98 94 IR giaT @
1. Knowing needs/ ARG HATSHT Dl ST

2. Intrinsic factors/ 3TdNP HRP
3. Extrinsic factors/ Eﬂ?ﬂ DhRh
4. Mastery goals/ HERd A&

Correct Answer :-

« Extrinsic factors/ Wﬁ DRh

14) Through classical conditioning, a neutral stimulus becomes a/an

RrRufaf¥d ye T (FRied SSI=IfT) & a1eay 4, wamﬂ——raefrw

TS CERuIGIES

1. Unconditioned Response / &Hﬂ%ﬁ‘ﬁ[ &fﬂm

2. Unconditioned stimulus / 3P fod SE1Ub

3. Conditioned stimulus / U] SIRCEARES

4. Conditioned Response / U@ dll Sfchal

Correct Answer :-



« Conditioned stimulus / HIJP SIRCEAREE

15) A continuous loud noise is avoided by closing the door. This is an example of

./ AT P §¢ BIP WGR 3 aTell oSl TaTS | 997 ST ¢ | 98
&1 U SeTeXU 5|

1. Negative reinforcement / TP RIHD Y- Sq

2. Negative punishment / TPRIHD qUs

3. Positive punishment / YPRIHP qUS

4. Positive reinforcement / P RIHD Y- Sq

Correct Answer :-

« Negative reinforcement / TPRIHD Y- Sq

16) Several tissues coordinate to give rise to a system. This is known as ./

PS D, TP YUITell Bl ST+ o1 P [ JHag da 2 1 33 U H
ST ST 2 |

1. Continuity / IEEGEG]

2. Integration / WUT
3. Specificity / faRivar

4. Differentiation / %ﬂa‘rr

Correct Answer :-

. Integration / WUT

17) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / PI-IT Rrgia SRTSIh I, Acas
3R SAfeear vd SMe-ITTe Rigidl gRT Wiel ¢ Rgidl & tidpd Hdr
87

1. Cognitivism / G3TTHD

2. Connectivism / GIISATG

3. Behaviourism / oUdglRdlg



4, Humanism / HIHddIdIq

Correct Answer :-

. Connectivism / W\_SFWIT.‘Z

18) Which of the following is not a teaching skill in inclusive education? /

frafafea o & o= arash Rren o v Rreor iz 78 82
1. Formative / FHTONTE®

2. Achievement / ST

3. Summative / ANTTHD

4. Performance / UG

Correct Answer :-

. Formative / ﬁw

19) Which of the following types of parenting is least likely to benefit a child’s

development? / FFafafed ¥ 9 f59 UoR & Traa-uivor 9 92 & e o
TTH IR BT HHTGAT Had $H 82

1. Permissive / &l?pﬂw

2. Uninvolved / 3&G (HIGATHD FU Y 7 ST §3T)

3. Authoritarian / ﬂ?naﬁr
4. Authoritative / 3MYRTRD

Correct Answer :-

. Uninvolved / &g (UTGATHS FU Y - ST §3M)

20) Which of the following steps should be taken in order to develop creativity

in students? / BT A YTHB AT fapRId #34 & fou Fafafaa a1
AT HSH IS ST I1gE?

1. The teacher has to give freedom to respond. / fRrerd @1 gfafbar ¢ & forg
LSRERINCEICIHY



2. The teacher should deliver lectures on the importance of creativity. / Rr&rd P
IATHB AT & Hgd IR ARAM T A5

3. Students should be given opportunities to ask questions. / CECICIRES] qgﬁr &

NP ERSRSI Y

4. Teacher himself should be creative. / QT&W CARCB RN RERIRED ‘6\I"il E|T%’QI

Correct Answer :-

« The teacher has to give freedom to respond. / fRrere o1 gfaforar &1 & forg
LERERICRICIITHY

21) Which is the final stage of Piaget’s theory of cognitive development? / firarst

& TS fapra & Rigia #1 sifaw srawn a1 W 32
1. Formal operation stage / e Tfgrar Sraw

2. Pre-operational stage / Uj—ﬂmm SHAWT

3. Concrete operation stage / Iljf TichaT SaRAT

4. Sensorimotor stage / Tadl UM 3{aT

Correct Answer :-

« Formal operation stage / oTRes Tfgram g

22) Different parts of the body have / IR & fafux %?R‘ﬁ' s | E'Fﬂ %:

1. Sporadic development / fe5eqe faswT a1 wel-de! f[dw

2. Uniform development / THIT faer g
3. Different rate of development / faerg & fafta @®
4. No development / ﬁ‘s‘ famrg '_'|_6°f

Correct Answer :-

. Different rate of development / T & fafla av

23) CANCELLED

"My test results show that | have an interest for sports but | do not have stamina
to play’; which of the following tests describes the above statement?/ 'eﬁ' qﬁ&I'UT



gfkom g=ifd 8 f got @el d S @ afew I oy W & fore gga=ifaa
T8 g fRgfefad & 9 919 I1 udenr SRIeT $U &1 9uid HdT 8?2

1. Aptitude Test/ 3{THGRT TRT&OT

2. Skill test/ DRI TRI&OT

3. Achievement test/ SUeTTsd TRI&[0T
4. Intelligence Test/ §f< URI&TT

Correct Answer :-

. Aptitude Test/ ST URI&T

24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle

explains this belief? /ﬁWW—W%W@W%W@@W
A 3 | st Risia 3 fayra &6t s saren srar 82

1. Egocentrism / @y
2. A-not-B error / Q—:Iﬁ—ﬁﬁ ﬁ%
3. Conservation / FR&UT

4. Animism / ﬂafaana

Correct Answer :-
« Egocentrism / ey

25) CANCELLED

During middle childhood, when faced with failure, what meaning would
children attach to their experience? / H ddU- & aTFl', ofd B AdT DhT
HTHAT BT IS 8, df 9= 31U+ SgHT | T JHFA?

1. Shying away from activities in which they are likely to succeed. / Tpral Qﬁf

Tfafafaa § gR I8 & S8 3% T g1 &1 U 8l

2. Conclude that trying new things is better. / g BERETECH '_'Féc ISl BT HIRI]
B IEAR B |

3. Conclude that failure is an indication of their incompetence, not a condition that

can be modified by learning or practicing. / Ug frpy FaTe fo s/



31| &N T Hobd B, - Tob T fRUFT § For HTRTH D= AT 31 4 U
Tenfag et fpan ST gpar g |

4. Frustration and becoming more pessimistic about their abilities. / P 3T 3R 3+
gaarell & day H i FRImare! g1 9id g

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / U Py M&TaT & Swadn
DT ST BT Habdl g, A fos Ut UM B Tordy iR & a1 3199 =
TR et fomar < whar B

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing

schemas in the light of new informationis knownas__ . Fﬁ‘l s &
IUR, Wmmﬁam%mﬁmﬁwwﬂmaﬁ
SCoTT AT 2 & 9 | ST S1ar g

1. Equilibration / qT&]

2. Assimilation / 3{THITAD U
3. Organization/ T16

4. Accommodation / 3TdTH

Correct Answer :-

« Accommodation / 3TdTH
27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap
between them. This follows which of Gestalt’s principle of perceptual organization? /

203 HI T AR AT Tp IS ATY-ATY IWT ATl 3 3N 59 37 aH & 3R &)
ST H THATY W & | U8 AT & SATURITHAP W6+ & 5 Rigia &1
SERUT T 872

1. Law of continuity / fFRaxar &1 fAaa
2. Law of proximity / Apedr &1 faw
3. Law of closure /Wﬁﬁ'&l—q

4. Law of similarity / eLgdl BT Ha9



Correct Answer :-

. Law of continuity / fFRaRar &1 fAaw

28) Teachers need to the needs of diverse group of student. / Rrere HI oEl &
fafay wg ot smaza@marsit &t Bt AT B

1. Take care of / = TG
2. Orchestrate /thTrFITEFI'I%[
3. Handle / 880 B

4. Deal with / THSIAT B

Correct Answer :-

« Orchestrate /ﬁlW GEIC]

29) Which of the following is most crucial for children to learn to live in a

society? / fFufafaa & @ 19 =i & v 99 & 84 & forw da &
oY Hgeayuf 82

1. To work on individual tasks / SITFITd BTRIT U HTH HIAT
2. To work collaboratively / WQWW

3. To work for rewards /W%WWW

4. To work in isolation / chid T HTH BT

Correct Answer :-

«+ To work collaboratively / {-ISCI\I‘I @[ D [H hR]

30) Which of the following can help the child to overcome failure in school? /
fFafafea § @ o19-a1 9= & faemay § sRiwadar o gy &3 § 7gg H
Pl 8?2

1. Asking them to Focus on next assessment / 35 3T i R &= dhigd HA
DI Bl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdT |

31T AT IR SR 39 & forw I ARG 1 iR Tienfed S
3. Giving them some free time for leisure / 3% 3[IHTY b ﬁm P QTdl 9H9g %:IT




4. Changing their section/Class / 36 STTHIT/ D& &I dad-l
Correct Answer :-

- Motivating and encouraging them to emphasize on efforts over ability / &HdI |

31 T TR SR 39 & forw 3= URd o1 3R Uieanfed o=

Topic:- General English(L1GE)

1) Fillin the blank with the correct option from those given below:
Any econom-- will agree that entrepreneurs are crucial to the develop-- of every branch of industry.

1. --ist ... --ment

2. —-ic ... —-ing
3. -y ...--ing
4, --ical ... --mental

Correct Answer :-
e —ist...--ment

2) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which one of the following is a conspicuously bad sign of discrimination against women?
1. All of the above

2. Genital mutilation only

3. Sexual slavery only

4. Punishment of rape victims only

Correct Answer :-

e All of the above



3) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which crimes don't hit the headlines?
1. All of the above

2. Sexual slavery

3. Everyday drudgery and oppression

4. Female genital mutilation

Correct Answer :-
® Everyday drudgery and oppression

4) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

‘What is the main idea of the passage?

1. International Women's Day

2. The universal Declaration of Human Rights
3. The universal discrimination against women

4. A study on the rights of women

Correct Answer :-

® The universal discrimination against women

5) Read the passage carefully and answer the question given below:



With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main thrust of government policies for health care for the people?
1. Involving developed countries

2. Well trained staff

3. Public hospitals

4. Public-private partnership

Correct Answer :-

® Public-private partnership

6) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

‘What is the main idea of the passage?
1. The prevalent diseases in India
2. Delivering healthcare to the people

3. Concerns about public health



4. A study on poverty and health

Correct Answer :-

® Delivering healthcare to the people

7) Read the passage carefully and answer the question given below:

‘With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

In the passage, which of the following issues has not been addressed by the writer?
1. Economic status of a country

2. Literacy rate

3. Medic and paramedic staff

4. Population growth

Correct Answer :-

e Literacy rate

8) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?



According to the passage, what are the pre-requisites for effective health care in the private
sector?

1. High investment, a motivated and well paid staff, and good regulations
2. Better preventive health
3. Empowerment of village hospitals

4. Foreign involvement

Correct Answer :-

* High investment, a motivated and well paid staff, and good regulations

9) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's
rights everywhere, we should not lose sight of the fact that widespread discrimination against
women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital
mutilation, punishment of rape victims, sexual slavery, and degrading treatment of all sorts.
But it is the “low intensity” discrimination, often sanctioned by law, that condemns millions
of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations,
such pervasive conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that
the rights of women to equality and non-discrimination are enshrined in a number of
international instruments, including the Universal Declaration of Human Rights, the U.N.
Charter and, most extensively, in the Convention on the Elimination of All Forms of
Discrimination against Women.

In the passage to fly below the international radar means:
1. An issue that catches public attention

2. An issue dealt at the international level

3. Something that fails to be noticed or is ignored

4. Something that is discussed on a national platform

Correct Answer :-

« Something that fails to be noticed or is ignored

Rewrite the following changing the active sentence to passive.

Let her take the camera.



1. Take her to the camera.
2. The camera needs to be taken by her.
3. She has to take the camera.

4. Let the camera be taken by her.

Correct Answer :-
» Let the camera be taken by her.

11) Read the sentence carefully and choose the option that has an error in it:

The stranger gave us much informations.
1. No error

2. much informations.

3. gave us

4. The stranger

Correct Answer :-

» No error

12) Fill in the blank with the correct option in the given sentence:
A note added to a completed letter is a --script.

1. post --

2. sub --

3. pre --

4. super --

Correct Answer :-

13) Choose the right tag:

You can solve this question, ?
1. can you not
2. didn't you

3. did you not



4. can't you

Correct Answer :-

e can't you

14) Choose the option that substitutes the given phrase appropriately.
A person who has a sophisticated charm

1. Debonair

2. Witty

3. Petite

4. Beau

Correct Answer :-

e Debonair

15) Change the given sentence into Indirect Speech:
He said to me, ‘How old are you?’

1. He asked me how old I was.

2. He asked me how old you are.

3. He said to me how old are you?

4, He said to me how old am I?

Correct Answer :-
e He asked me how old I was.
16) Choose the appropriate prepositions for the given sentence:

Results a new clinical trial has shown a new radiotherapy technique can treat cancer
patients just five sessions instead of the typical 37.

l.in..in

2. of ...on

3. from ...in

4, for ...on

Correct Answer :-

e from ...in



17) Choose the appropriate antonym for the highlighted word in the given sentence.

Inventors often prefer to work in isolation.
1. solitude

2. confinement

3. group

4, liveliness

Correct Answer :-

e group

18) Choose the appropriate conjunctions for the given sentence.
theball____ the bat belongs to me.

1. whether ... or

2. rather ... than

3. neither ... nor

4. as ... as

Correct Answer :-

e neither ... nor

19) Choose the appropriate option that rewrites the given sentence in its passive voice.
One must confront such problems.

1. Confrontations of such problems must be one.

2. Such problems must be confronted.

3. Such problem must be in confrontation.

4. Such problem must be confronted by one.

Correct Answer :-

e Such problems must be confronted.

20) Choose the appropriate tense to fill in the blanks in the given sentence:
I up at 6am every morning and for a walk.

1. get, went

2. get, go



3. got, goes

4. got, went

Correct Answer :-

21) Choose the appropriate tense to fill in the blank in the given sentence:
The summer holidays are over and all schools

1. have reopen

2. have reopened

3. has reopened

4. had reopened

Correct Answer :-
« have reopened

22) Choose the appropriate synonym for the highlighted word in the given sentence.

My uncle, who is a park ranger, is well trained to handle a wide variety of emergencies.
1. fire fighter

2. owner of parks

3. police patroller in parks

4. keeper of parks

Correct Answer :-

» keeper of parks

23) Choose appropriate article for the given sentence:
_____Ganges is the most fertile river

1. An

2.A

3. The

4, No article

Correct Answer :-



24) Choose appropriate articles for the given sentence:

In 1929, Fleming wrote __ report of his laboratory experiments, presented it at ___ medical meeting,
and had it printed in ___ medical journals

1. no article required ... the ... a
2.4a..a.. no article required
3. the ... a...no article required

4, the ... the ... the

Correct Answer :-

e a..a..no article required

25) Choose an appropriate determiners for the given sentence.
They had so success with so effort.

1. little, little

2. many, few

3. much, little

4. few, much

Correct Answer :-

e much, little

26) Choose an appropriate modal for the given sentence:

When I was a child, I spend hours together playing with my toys.

1. should
2. will
3. can

4. would

Correct Answer :-

e would

27) Choose the most suitable pronoun for the given sentence:



I went shopping for clothes yesterday, but I couldn’t find that I liked.
1. nothing

2. something

3. everything

4. anything

Correct Answer :-

28) Choose the option that best explains the highlighted expression:
She was thrilled to bits when I told her that she was offered the job.
1. very much tensed

2. very much annoyed

3. extremely pleased

4. broken to pieces

Correct Answer :-
o extremely pleased

29) Choose the right tag:

Mihika doesn't like to play cricket, ?
1. does she

2. doesn’t she

3. didn’t she

4, did she

Correct Answer :-
e does she

30) Which of the following options best combines the given sentences?

This is a huge unit. It employs 900 workers.
1. This is not only a huge unit but also it employs 900 workers.

2. This is a huge unit so only it employs 900 workers.



3. This is such a huge unit that it employs 900 workers.

4. Being a huge unit, it that it employs 900 workers.

Correct Answer :-

 This is such a huge unit that it employs 900 workers.

Topic:- General Hindi(L2GH)

1) Hdl HTE 3MTS 19 BY 3rieht ¥

Y B Tt Td IS, AR I8 A i1
Rfa-fra &1 § L AR, vig aefisT g

a1 Bt uft &R FHul, Faft &1 Uist Getl |
ST Il Y et areh g ga = uioft

S BUC ST &I (A, ik &t fd sra Soft |
STt G &t 5T g1, 99 g8 5= o=

Fg PAR Ui S U Ifed var aw GiHfi |
ITYa U B UgHR 19 D Y UY BT IR Ja33:
- «3iTef T it o ger ufea 1 ek 32

1. TN & ST HTeR BT ST

2. 3ffeft & a1e @t aul I 90 g1 &

3. 3ifeft & 1e ot auf T 95 S

4. 3ifeht & a1g Bt aut F o S

Correct Answer :-

o 3t & 91E BT awl J T S

2) Hal TS 3T 7= P Siif X

Y B Tt G IS, ART¥E T qieh
fRfe-fr 31 § St AT, Hie aeliet geri

Bt o1+ Ul &R FHul, Faft &1 HisT wetl |
ST Sfa fY et areht frg ga = uioh

F$ HUC Sl F1 Few, g 3t fa ora ot
SiTeht fi St o1t e, W &6 & oA

Fg FAR U & UHe Ifed WaT ad FHi |



ST U B TEHR 19 U Y UY BT IR Iad159:
T - BT A1 S8 & ge BT T PRI ?

1. S 1 YIS 81 ST

2. Gl &1 3fT

3. WP Bd RS

4, 3ffeft BT 3T

Correct Answer :-

o M B UL 81 ST

3) Hdl YT 3T I & Sieht ¥

Y9 B 1t T IS, AT G T gk
fRfa-fem 9t § L ART, Aig efisT gen

Bt oI+ uft &R FHul, Faft &1 HisT wetl |
ST Sfa Y et areht frg ga = uioh

P PUc BT &1 fFAmw, g &t wifa 5ra ot |
ST S ot o g1, 97 g8 == =T

Fg PAR Ui S Ywe Ifed ar aw FiHAT |
I UL B U A1 YD T U BT SO 9154
- ‘HUE Mg T faaiy 32

1.9

2.¢H

3. Awpue

4. 9d

Correct Answer :-

4) Wl UTS TS FTH B S|

Y B eIt G IS, AT G 7 qiehi|
fRfa-fer 91 § 47 ARIR, Wi aefisT qen

a1 B+ uft &R FHul, Faft &1 Uist Fetl |
ST SIfa Y et aieht fARg ga = gl

TS PUC ST 1 e, g o1 fa sia st |



ST i ot 5T g1, uw &<t o =T

Fe AR U F ywe 3fea war aq At

ST UL B Ugd ) ID T Uy BT 30 9159
UH- ‘HTST Be’ 3T 3 82

1. YR g

2. Ve Jd AT

3. WR M

4, HIT ST

Correct Answer :-
. NG QA Sl
5) Hdl YT 3T I B Sieft ¥
Y B 1t G IS, ART I8 T gk
fRRfe-fr 31 § $it ARTH, Hie aeliet e
Bt oI ult &) FHul, Fafy &1 HisT wetl |
ST Sfa fY et aTeht frg ga = uioh
F$ HUC HrAT F1 Few, g 3t fa ora ot
SiTeht fiD &Y o1t e, W &6 5 oA
Fg FAR U & YHe Ifed War ad Fii |
ST Ui B U ) ID T Uy BT 30 9139
- TRd Ufea § <o & a1 82
1. BTy
2. FSHI Y
3. YaH ¥
4, AR Sita
Correct Answer :-
. GRS Sita
6) Hell UTS TS T B S X
Y9 B eIt G IS, AT G T qieh |
ffa-fe 31 8 R AT, g aefteT ger
a1 B+ uft &R FHul, Fafy &1 UisT Fetl |



ST It S <t aiedt ARy ga T gt

TS HUC H1UT 1 e, g o1 1fa 5ia st |

ST i <Y e g1, IW &<t o =T

Fg PAR HIA & U Ifed var aw Gt |

ITYE U B UgHR 19 D 7Y UY BT IR Ja133:
U= - g &1 faau ghm?

1. &

2. S

3. fpaH

s g

Correct Answer :-

7) Wl YIS 3 §9 BT i ¥

Y B Tt T IS, AT I8 T gk
fRfa-fora &Y § 4 ARTR, e seleT gen

Bt sify ult W) FHulk, Faftr &1 uisT werl |
ST Il Y Wt areh =g ga = uioft

TS HUC H1UT 1 e, g o1 fa o1 ot |
ST G &t 5T g1, 99 g8 5= o=

Fe AR U F ywe 3fea war au At
ST TR $) UgaT 2 TD T UY $T IR TS
U — R | arard 82

1. YR

2. ST&T

3. UrgT it

4. 3f¥H

Correct Answer :-

8) Jdl HTS 3 9 B i Y1
YH P ¢t Fa IS, AT IR T Tiehi 11



Rfa-fr 3t § L AR, wie aefist gen

a1 B+ uft W) FHul, Fafy &1 Uist wetl |

ST Il Y et areh g ga = uioft

TS HUC BT BT (Ao, g &1 fa 5 |roft |

3T i <Y e g1, UW &< o =T

Fg AR HIA S U Ifed Har aw Gt |

ST U ) UgHR 19 U Y UY BT IR Ja159:
U - HAR & g1 A1 Ht 32

1.9 g3

2. eI

3. 3Had
4. g

Correct Answer :-

9) Hdl HTS 31T T Bt e ¥

YA B TS g ST, AT I8 T Tich11
fefa-faar 91 § Yt AT, Hie wefisT en

a1 Bt uft W) FHul, Fafy &1 Uist Fetl |
ST It R et arel ARy ga 7 uioft

S HUC BT BT (Ao, g &1 fa 5 |roft |
STt G &t 5T g1, 99 g8 &= o=

Fg PAR Ui &S U Ifed war aw GiHfi |
ITYE U B UgHR 19 D 7Y UY BT IR Ja133:
- 3iTeht 1 wataarh T8 82

1. 3fer

2. QM

3. 99

4. dehdld

Correct Answer :-

\4

o YT



10) Hdl HTS 31§ T B i ¥

Y{ $} 18 e IS, Arar ¥8 T i1
fefa-faar 91 § Yt AT, Hie sefisT eni

ot sify aft @R FHufy, Fafd o1 uist werl|
ST Il Y Wt st g ga = uioft

TS PUC P11 1 e, g o1 fa 5ia st |
ifeht fi &t o1t g, U &t o AT

Fg PAR Ui S U Ifed Har aw G|
ST U ) UgHR 19 U 7Y UY BT IR Jad153:
WRA- SIRT Ifer & aread 82

1. gfed T

2. TR HAT

3. ST

4. ST

Correct Answer :-

11) Tal YTS 3T J19 D1 S I

Yu F 18 e IS, AT ¥8 T i1

fefa-faa 91 & Yt AT, Hie sefisT eri

a1 B+ uft W) FHul, Faft &1 Uist wetl |

ST Il v Wt areh g ga = uioft

TS HUC H1UT 1 e, g o1 fa 5ia wioft |

ST G &t o g1, 99 g8 5= o=

Fg AR Ui S U Ifed var aw GiHTi |

ST U ) UgHR 19 U 7Y UY BT IR Ja153:
- U Ufdal § wdiver A ferast uewr &) wifia fHar 32
1.09

2.9

3. 9r

4. YH

Correct Answer :-



12) Hdl HTS 3T 79 31 i X1

Y9 B Tt G IS, AT G T gk

fRfa-fem 9t § L ART, Aig aefisT gen

Bt ity ult W) FHulk, Faftr &1 Uist werl |

ST Sfa Y et areht frg ga = uioh

S BYUC ST BT fHmwr, g &1 7fd o1a Soft |

ST S ot e g1, 97 g8 == =T

Fg AR Ui &S Uwe Ifed Har aw JHT |

I RIS B U S YD T U BT 39 9154
TA- ol UTE TS JH1 B et T & B AT PR 32
1. S SAPR

2. TUFD ABR

3. 3T 3P R

4. IUHT ADBR

Correct Answer :-

o TS ADR

13) Sdl WIS 3 [ B i ¥

Y9 B eIt G IS, AT G T gk

fefa-fer &t § +f AT, wig seftsT e

ot ity uft W) FHulk, Faft &1 Uist werl |

ST SIfa Y et areht fRg ga = uioh|

FS PUC ST BT e, g o1 1fa w1a ot |

ST S &t 5T g1, 99 g8 == =T

Fg AR Ui S Yoe Ifed Har aw FiHAT |

ITa U ) UgHR 19 U Y UY BT IR Jad133:
URHE- FAR A P S U A g9 F oM P aTd vl @2
1. 9

2. 3fieft

3. S



4. {1

Correct Answer :-
. it

14) Tdl YIS s J19 BI AT I

Y9 B eIt G IS, AT G T qieh |

fefa-fe 91 8 R AT, wig seltsT ger

a1 B+ uft W) FHul, Faft &1 Uist Eetl |

ST SIfa Y et aieht fARg ga = uivh|

TS PUC ST 1 e, g o1 fa sia st |
ifeht fi &t o1t e, W & & oA

Fg AR HIA S Uwe Ifed Har aw DT |

ST U B) UgHR 19 U Y UY BT IR Jad133:
- <Y @ ared 22

1.

2.9

3. 799

4. W™

Correct Answer :-

15) Tdl YIS 3T J19 B1 S 1

Y9 B eIt Ha IS, AT G 7 qieh|
fefa-faa 91 § Yt AT, Wi wefisT eni

ot sify aft @R FHufy, Fafd o1 yist perl|
ST Il Y et areh g ga = uioft

TS PUC P11 1 e, g o1 fa sia st |
STt i &t o7 g1, 99 g8 == o=

Fg AR HIA & U Ifed Har aw FiHATi |
ST U ) UgHR 19 D 7Y UY BT IR Iad153:
UR[E- ST g F1 [ad=h w2

1.3



2. TR
3. B3
4. 9igt

Correct Answer :-

16) T 1857 5. & fASIE! AT YYUd AT AIEd FEYR A 3Fd B W T YA T, @ d Tt § 3a=
T AT B Q1Y T @ o GF | 3t A1 fagR | frar & wea # @t ff; W g oA v & 91 3w A
TSI € pvar A 39 i ok PRwTy 3t @Y 3ifyr § w1 33 feam| SuT AHTaeRY quf grTor gey @)
Wt T IR SdIYd B a1 31 FHER | N0y gerdhis H31 & a1 il H1 AfF ga fagr &) ik mam
fag & AT ATed &1 I d e forar T, uR 39H ggd dISt gwixy iU & g1y @t 39 a1 iUl
A1 & Tl | AT AT8d BT Hed W FR & 1 (e fan1 e ga 7 919 g1 91l @vnng, 39 96
Ued & SRS § TP 3d Jra JNAD] MTH Tl 81 M5 | SU WD U IR B I3T 3merd ga,
FNfP Ued e & WHY 98 SIfidT 98 Pal fewrs 7 3 ft 39 aifereT A W # WS fie] W
JATUA B MA RAA A T4 frar| 3T FHonyul & iR euaayy T@H? Jufa H ff 39 R 70
T M|

S TIRIIRI B UgHR 19 YD 7T Uy BT IR Ta13:
UH- Heuaas o1 33 g2

1. grgdt

2. HH Iy Tt

3. TTeleh
4. g,

Correct Answer :-

o HHIY TGl

17) ¥ 1857 5. & fAsIg) a1 YU AT AT FHEYR A THA g4 W oG YNH &, df I Tl 7 St
T AT B Q1Y T @ o GF | 3t A1 fagR # frar & wea # gt ff; W fAgE oA w1 & 91 3w A
TSI € T @ 39 g SR PRy 3t 31 ofyr F ey &= | ST AuiEeR) vl uTaTor ged Hi
W TP IR 5dyYd B a1 81 SR A iVl gardis F1 & 916 S BT S ga fagr B iR T
fag & AT ATEd &1 e d e forar T, uR 39H 9gd dISt gwik iU & g1y @t | 39 a1 iUl
3 A1 & Tl | AT AT8d $T Hed Y FR & 1 (e fan1 e ga = o9 ag1 9id @vng, 39 96d
Ued & RS § TP 3fd Jra JNADT TH Tl 81 T3 | 3U WD U JATUfT B I3T et ga,
FfP Ued e & WHY 98 SIfaPT 981 Pal fewrs 7 3 ft 39 aifereT A e # WS fier i
ﬁgﬁ;ﬂﬁﬁﬁwﬁﬁwml SUDBT FHUNYY TF 3R HeUqad @S AU $i ot 39 W $
od1 I

IUY e TR B UgHR 1 YD 7T U BT IR qaA154:
W= — HHT=IA: A1 AT a1 gl 82

1. STefTd Sitg

2. T gard



3. U gelt
4. IWad Tt

Correct Answer :-

. T et

18) W 1857 5. & fAgIgl AdT YYUT AT WG YR H G g4 W oId YNH &, d d STl § (=it
T AT B Q1Y T @ o GF | 3t A1 fagR # frar & wea # gt ff; W fAgE oA v & 91 3w A
TSI € Pear A 39 g o PRy 3t 31 orfyr # w7 &= | SH&T AWiEeR) 9ui uTaTer g6 Fi
Wt T IR FdIYd B a1 31 SR | 0T gTdhis H31 & a1 i HT AfF g fagr o) ik mam
fag & AT ATEe &1 I d e forar T, uR 39H 95 dISt gk iUl & g1y @t 39 a1 iUl
A A1 & Ml | AT AT8d BT Hed Y FR & 1 (e fan1 ¥w ga 7 o919 g1 91l @wnng, 39 96g
Ued & RS § TP 3fd Jra JNADT MTH Tl 81 T3 | SU WD U JATUfT B TST et ga,
FfP Ued e & THY 98 SIfidT 98 Pal fewrs 7 3 ft 39 FifereT A e # WS fier
ﬁu@?ﬁaﬁfﬁﬁwﬁﬁwﬁml SUPBT FHUNYY TF 3R HeUqad ST ITufd $i ot 39 R $
odar I

ST TR B! UgHR 1A YD 7T Uy BT IR Ta13:
Y - AT A8 B Hea-d A2

1. GERAYR

2. IR gt

3. BFR

4, IAGR

Correct Answer :-

19) T 1857 . & fASIE a1 YU AT A16E PP A 3MFd g W T YA @, @ d Tt § 3a=
T AT B QY T @ o GF | 3t A1 fagR | fUrar & wea # gt off; W g oA a1 & 91 3w A
TSI € Pt @ 39 g R PRy 3t 31 &fyr F w7 o= | SueT AWiEeR} vl uTeTer g6 Hi
W TP IR 5dyd & a1 81 FEYR A vl gardis F & 916 S BT AfE ga fagr B iR mm
g & AT ATed &1 I d e forar T, uR 39H 954 dISt gk iU & g1y @t 39 a1 iUl
A1 & Tl | AT AT8d BT Hed U FR & 1 (e fan1 e ga 7 o919 a1 91l @wng, 39 96g
Ued & SRS § TP 3d Jro JNADT MTH Tl 81 T3 | 3U WD U JATUfT B IST et ga,
FfF Ued e & THY 98 SIfadT 98t Pal fewrs 7 3 ft 39 FifereT A e # WS fier v
ﬁu@?ﬂaﬁﬁﬁwﬁﬁwﬁo‘ml SAPBT FEUNYY TF 3R HeUqad @S AATUfd $i ot 39 W $
odar I

S TR B UgHR 1A YD 7T Uy BT IR Ta13:
U= UTHTVT g6 P81 | a1y g2

1. GRR BT Hetoll

2. YR 1 Rre

3. TR BT [T



4, QRIAH Siel

Correct Answer :-

o TR BT HAS

20) I 1857 3. & fAIE) AT YYUd AT AR FTHYR H EHA g4 U 9 YNH o, df 3 el § St
T AT B Q1Y T @ o G | 3t A1 fagR A frar & wea # @t ff; W g oA w1 & 91 3w A
TSI € Pear @ 39 1 ok PRy 3t o1 ofyr F ey o= | SueT AuiEeR) vl uTeTer g6 Hi
W TP IR 5dYd BT a1 81 SR A WiVl gardis F1 & 916 S BT S ga fagr B iR T
g & AT ATEd &1 I d e forar T, uR 39H 9gd dISt gk iUl & g1y @t 39 a1 iU
A1 & Tl | AT AT8d BT Hed Y FR &4 B (e fan1 e ga = o9 a1 914 @vnng, 39 96g
Ued & SRS § TP 3d JraX JNADT MTH Tl 81 T3 | SU WD U JATUfT B I3T et ga,
FfF Ued e & THY 98 SIfidT 98t Pal fiewrs 7 3 ft 39 FifereT A e # WS fier i
ﬁmvﬁrmaﬁrhﬁwﬁﬁwﬁml DT HHUMYU! T 3R eUqad SHR AU &) ff 3§ R 8
a1 I

S TR B UgHR -1 YD 7T Uy BT IR qa13:
WA AU BT 3 T giaT 82

1. 3 &1 WD

2. I 1 forielt

3. I 1 AID

4. Y1 BT e

Correct Answer :-

o I FHTATH

21) 9 1857 3. & fAIE) AT Y Ud AT WIS FTER § AHA g4 U 9 YNH &, af I el § St
T AT B Q1Y T @ o GF | Gt A7 fagR A frar & wea # @t ff; W fAgE oA w1 & 91 3w A
TSI € Pt @ 39 g o PRy 3t 1 ofyr F ey o= | ST AuiEeR) vl uTeTer g6 Hi
Wt T IR SdIYT B a1 31 SR | 10T gTdhis H31 & a1 il 1 AP ga fagr o ik mam
fagR & AT ATEd &1 e d e forar T, uR 39H 954 dISt gk iU & g1y @t 3P a1 iUl
A1 & Ml | AT AT8d BT Hed Y R & 1 (e fan1 e ga 7 o9 g1 91l @vnng, 39 96d
Ued & SRS § TP 3d Jra JNADT MTH Tl 81 T3 | 3U WD U JATUfT B I3T et ga,
FfP Ued e & WHY 98 SIfadT 98t Pal fewrs 7 3 ft 39 FifereT A e # WS fer i
ﬁgﬁ;ﬂﬁﬁwﬁﬁwM| SUDT FHUNYY TF 3R UG @S TUd $i ot 39 W $
a1 3|

S TR B UgHR -1 YD 7T Uy BT IR qa1gd:
U= - ¢4t 391 fogR ® fraas wmy vt A2

1. HHT & 1Y

2. fudi & 91y

3. A& iy

4, U & 1Y



Correct Answer :-

. fUars Ty

22) 9 1857 3. & fAsIE) AT YYUd AT W1 FTEYR § SAHA g4 W 9 YNH &, df d el § St
T AT B QY T @ o G | 3t A1 fagR # frar & wea # @t ff; W fAgE oA w1 & 91 3w A
TSI € Pt A 39 g ok PRy 3t o1 &fyy F w7 o= | ST AuiEeR) ui uTeTer ged Fi
1t T IR FdIYA B a1 31 SR | N0y gTdhis H31 & a1 il BT AP ga fagr o) ik mam
fag & AT ATEd ST e d e forar T, uR 39H 9gd dISt gwik iU & g1y @it | §9F a1 iUl
919 & Tl A AT AT6d BT Hed U FR & B (e fan1 e ga = o9 a1 9id @vng, 39 96d
Ued & SRS § TP 3fd JraX JNAD] TP Tl 81 T3 | SU WD U JATUfT B TST 3merd ga,
FfF Ued e & WHY 98 SIfidT 98t Pal fewrs 7 3 ft 39 FifereT A e # WS fier i
ﬁgﬁ;ﬂﬁﬁwﬁﬁwM| SUPBT FHUNYY TF 3R HeUqa @S J1Ud $i ot 39 W $
a1 3t |

IUY e TR B UG 1 YD 7T U BT IR qaA134:
U=H- ‘YU AT AT W A g 919 |1 8?2

1. 9ed

2. gyud

3. STH AP Tl

4. |1

Correct Answer :-

23) I 1857 3. & fAsIE) AT Y Ud AT W1 FTHYR § AHEA g4 U 9 YNH &, df d el § St
T AT B QY T @ o qF | 3t A7 fagR # frar & wga # gt ff; W fAgE oA v & 91 3w A
31 g prar ¥ 39 e ok FARwRTy 3t 1 oifyr & v o7 faan| ST Auige R quiq utarr geg &t
W TP IR 5y B a1 81 SR A WiVl gardis F1 & 916 S BT S ga fagr B iR
fag & AT ATEd &1 IS d e forar T, uR 39H 954 dISt gk iU & g1y @t | 3 a1 iUl
A1 & Tl | AT AT8d BT Hed W R & 1 (e fan1 e ga = o9 ag1 914 avnrg, 39 96g
Ued & SRS § TP 3d Jra JNADT TP Tl 81 M5 | 3U WD U JATUfT B IST et ga,
FfP Ued e & WHY 98 SIfidT 981 Pal fewrs 7 3 ft 39 FifereT A e # WS fier i
mﬁﬁﬁwﬁﬁwml SUDT FEUNYY TF 3R HeUqad @S AU $i ot 39 W $
od1 I

IUY R TR B UG 1 YD 1T U BT IR TaA154:
URH- AT A8 YRTd 99T f5d 3ra= |1y =161 of &1 g2
1. fGar &1

2. A HI

3. Udl &1

4. AR B

Correct Answer :-



24) I 1857 5. & fAsIE) AT YYUd AT AI8d FTHYR | G g4 U oG YNH o, d d el § =it
T A1 B 1Y 7 @ o G | 3 A1 fAg | a1 & vew # el ff; R fawe 0 w9 & 91¢ 3w A
TSI € Pt @ 39 g o PRy 3t 31 &rffr F w7 o= | SueT AW} vl uTaTer g6 Hi
W TP IR 5dyd o a1 81 FER A vl gardis F1 & 916 S BT AfE ga fagr B iR
fag & AT ATEe &1 I d e forar T, wR 39H 954 dISt gwixy iU & g1y @t 39 a1 iUl
A I & Ml A AT AT8d BT Hed W FR & 1 e fan1 ¥ ga 7 o919 a1 9l @vng, 39 9ug
Ued & RS § TP 3d Jro JNADT MTH Tl 81 M5 | 3U ITHR U JATUfT B I3T 3mert ga,
Fiifh Hgd e & THY I8 SIAPT 981 Pal e@rs A 4t 5t IF qIfereT 7 R | WS FH?
JATUfA B MA R A T4 frar| T FHonyul g iR euaay T@H? Jufa H ff 39 R 70
T 3Tt

ST TIRIIRI $1 UgHR 1A YD 7T Uy BT IR Ta13:
WA~ YUd AT 189 DI A?

1. 3O

2. Al

3. T

4. et

Correct Answer :-

25) - 1857 5. & fAsIg! AT YUd AT WIed FTHYR | B g4 U oG YNH &, dl d et § =it
T B B A1y T @ o G| A A1 g | a1 & vga ® wdt f; R fawis gua w9 & 91 siiw A
31 g prar T 39 Al ok FARwRry 3t &1 oifyr & v o7 f3an| ST AuigerY quiq urarr geg &t
W TP IR 5dyYd B a1 81 FER A vl gerdis F1 & 918 S BT AfFF ga fagr B iR mm
fag & AT ATee &1 I d e forar T, wR 39H 954 dISt gwix iU & g1y @t 3P a1 iU
A I & Ml | AT ATed BT Hed W FR & BT (e fan) ¥Fw ga 7 919 a1 9id @wnng, 39 9ug
UEd & RIS | TP 3cdd GoX ST ATHT WSl g1 M5 | IH AP U U Y ST MY g,
FNfP 75 e S THG I8 TP agi Pl fe@rs 7 ¢ A1 36 TIfdreT 7 RS 7 @S TP 3
JAUA T MY A A T4 frar| b1 F3onyul g iR euaayy T@H? Jufa #f ff 39 R 50
T 3T |

ST TR B UgPH A1 ID T U HT IR 9d133:
TR - AT BT aiaard T8 32

1. gfgar

2. ASHI

3. ST

4, o1

Correct Answer :-



26) T 1857 5. & fAKITY a1 YU AT e YR | SRIGd g4 U G U &, dl d STegt & S(O=t
T AT B Q1Y T @ o GF | 3t A7 fagR # frar & wea # @t ff; W g oA v & 916 3w A
1 & pvar A 39 T ok FRwTy 3t @Y 3ifyr § w1 33 fean| SuT AHTae R quf graTor gey @)
W TP IR 5dYd FX a1 81 FER A iVl gardis F1 & 916 S BT AfF ga fagr B iR
fag & AT ATed &1 I d e forar T, uR 39H ggd dISt gwik iU & g1y @t 39 a1 iUl
A1 & Tl | AT AT8d HT HEA W FR & 1 (e fan1 9w ga 7 o9 g1 91l @wnng, 39 96y
Ued & SRS § TP 3d Jrax JNADT MTH Tl 81 M5 | 3U WD U IR B I3T et ga,
FfP Hed e & THY 98 SIfidT 981 Pal fewrs 7 3 ft 39 FifereT A e # WS fier i
JAUA B MA R A T4 frar| T FHonyul g iR euaay T@H? Jufa Hf ff 39 R 58
T M|

SR TR B UgHR 1A YD 7T Uy BT IR Ta13:
WH- "y & faei wreg 372

1. 3MTaf

2. faufa

3. !

4. grggt

Correct Answer :-

27) 91857 5. & fAsig) AT YUd AT WI8d FTHYR | AAHA g4 W o YNH a1, df d el § =it
T B Y A1y T @ o G| 3 A1 g | a1 & vga ® el f; R fasis gua w9 & 91 siiw A
31 g prar T 39 e ok FRwry 3t 1 oifyr & v o7 f3an| S9&T1 Auige i quiq urwrr geg &t
W TP IR 5dyd FR a1 81 FER A vl gardis F1 & 916 S HT AfFF ga fagr B iR
fag & AT ATed &1 IewEd e forar T, wR 39H 954 dISt gwixy iU & g1y @t 39 a1 iUl
A A9 & Tl | AT AT BT Hed W FR & 1 e fan1 ¥fw ga 7 919 a1 91l @wng, 39 9ug
Ued & SRS § TP 3fd Jro JNADT MTH Tl 81 T3 | 3U ITHR 31U JATURT B I3T 3merd ga,
Fiifh Hgd e & THY I8 SIAPT 981 Pal e@rs A 4t 9t IF qifereT 3 R # WS FHw
JATUA T MR A A T4 fFar| g1 FHonyul & iR euaayy T@H? Jufa # ff 39 R 70
T 3T

IU e TR F1 UgHR 1A YD 7T Uy BT IR Ta13:
U- AU & M i WS g1 TS A2

1. fogr

2. FTH AP TG

3. T ATE

4. AT BT

Correct Answer :-

o



T 1857 5. & fARIGT AT YYUT AT A16d PP | 3P g1 IR od YNH T, d@F 9 Seat F S0+t Tt
BT ) 1Y 7 A &1 P | 9t A7 g & frar & gga # vedt Off; w fagie g 31 & a1g s A g 8
Pal ¥ 39 g ok FARuRTy 3t &Y 3ifdr & ywy &= faam| SueT e R quie urwmr geg &1 ot v
IR SdYd FR a1 81 PR A vl gardis 31 F a1 36w &1 AfF oo fge it ok man| fage &
AT 19 BT ISTHEd Fe Form T, IR 39H agd digt Iriy 3l & g1 it | 39 91 3l A AU &
Ml V AT W18 BT Hegd Y B ¢4 o1 gy fFan A ga 7 w9 981 O @S, 39 999 Ued &
WS | TP 3Hcdd Gg¥ JIPT ATHI TS! &l T51 I @D 3 AUl B I97 Sy gaim, Fife
Ued g & GUY 98 ST 981 dal few@rs 9 ¢l At 39 F1fereT A e & WS g 3w JAmufa &t
A AN | 741 a1 ITHT FMYel T& 3R eqaay STHR a-dfd @1 Wt 39 W 5 aar et

ST TR B UgH A1 IR T UY HT IR Iq133:
- Siferet A AATufa | w1 3mug fean

1. AT 1 G&H BT

2. g81 4 9 9H &1

3. Tl SR &1

4, a9 SR BT

Correct Answer :-

o T 9 RIH BT

29) 1857 5. & fAsIE) AT YYUd AT AT FTHYR | AAHA g4 U oG YNH &, d d el § =it
T BT B 1Y T A O GF | Sl BT fagR § fUrar & gga ® vt f; wR fagie eua w1 & a1 o A
731 ) BaT A 39 i o FARwmTy et ) oy & v & a1 SueT Auiae Y quie Ut geu &t
Wt T IR A1 B a1 31 SR | 10T gTHis FI1 & a1 3l T AP ga fagr o1 ik
fagR ® <11 ATe e BT WoHEd qe foran AT, W I9H agd YISt Il 3l & g1y @it 396G d1g Sl
A AT F Ml I AT e BT Tgd YT X &1 &1 e a1 e ga A 99 981 a1 @vnns, 39 awg
UEd & SRS § TP 3fd Jrax JNADT MTH Tl 81 M5 | SU WD U JATUfT B TST et g,
FIifH Agd e & UG 98 qIadT a8 Hel fg@rs 9 &f A1 I et 4 /e | @S g 3w
mﬁﬁﬁmﬂﬁﬁwﬁml DT FHUNMYU! G 3R Uaad DR AU ®1 ff 3T R $
od1 I

ST TRl B UgH A1 IR T U 6T IR Id133:
UL - R 0T gTHis F 916 3P Hel e A?
1. TTY

2. FHA

3. fagz
4. gdileldlq

Correct Answer :-

30) T 1857 5. ¥ fAKIE AT YU AT ATET PR | SRAEA i1 TR 9 U @, ot d STect A ot
T AT B 1Y T A O GF | Sl B fagR F fUrar & gga # vt F; R fagie eua w1 & 91 o A
31 &) BaT A 39 i o FARwRTy et ) oy & v 2 a1 SueT AW rY quie Ut ey #t



Wt T TR SAYT FR a1 81 PEPR | WY1 gATHiS HIA & 916 3l b1 A ga fagr ot ik M
fagR ® <11 ATE e BT WoHEd e foran AT, W I9d dga YISt Jwuit 3l & g1y @it 9 91g Sl
A Y & Ml | AT ATed BT HEA W FR &1 1 e fpan) ¥F® ga 2 99 a1 9 &g, 39 9ug
UEd & WA § TP dd e TP SATHR Tl 81 T3 | I/ TP U TATUfT B IST M g,
FIifF Agd e & UG I8 DT 981 Bel fe@rs 9 &f A1 I et 4 /e | @S g 3w
T B M TRAT A T4 {11 STHT FHoNYul & 3R eUaay S@HY Jufd Bt W 39 R 78
T M|

IUYF TR B Ugh Ad TR T UY HT 37X qad153:

WA - fagie &1 uw T A 82

1. DS

2. geT

3. §ad

4. Hifd

Correct Answer :-

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

MRS & 1Y fage &t gfoan & a=ai &) 7w FeF 3t U T Rigor fafd, o
o5 @ e fagm, Sfta fagm, vifast, gt fagm snfe, A @:

1. Science Exhibitions /ﬁﬂﬁﬂ?&fﬁ'ﬂ\f
2. Science Games /ﬁ?ﬂtf@ﬁ

3. Science Fairs /ﬁiﬂ:ffla

4. Science Songs /ﬁﬁﬂ:f‘ﬂﬁ

Correct Answer :-

« Science Songs / fagm= fa

2) Who gave the model of “Cone of Experience”? /
"I 3P THAUIRGH" BT Alsd fba- fgar 412
1. Burton / §¢+1

2. James S. Kinder / SIFg Y. fheY

3. Edgar Dale / USTIR od



4. Carter V. Good / HTCR . Is

Correct Answer :-

« Edgar Dale / USTR sd

3) Developmental Psychology is studied by other scientists, Except for:/

fasraTa® TAifaeT =T @1 Sis® o=T amf®! gRT Sreaa faram Ta 3:
1. Anthropologists / FTa fag (weidieiore)

2. Biologists/ STid fag! (SRAdIToRT)

3. Physicians / Hifae fagmt (sforerm)

4. Physicists / Hifae fag (pfofaee)

Correct Answer :-

« Physicists / Hifa® ﬁ—d (o)

4) What is one method of transferring information from short term to long term memory? /

WY-Brei A Sie-wrefi= Tfa § Fan RIMiaid $31 3 v [y @ g2
1. Rehearsal / galamy

2. Decaying / JdH

3. Delaying / faciadT

4. Chunking / dfdT

Correct Answer :-

+ Rehearsal / tljff‘wl'lﬂ

5) What is the smallest unit of speech known as? /

YTYUT ) JId DI SHTS Y 9T T SITdT 82
1. Morpheme / 0¥ (ATHIH)

2. Word / R[eq (a‘e.‘)

3. Syntax / ATag-fo=arg (RicaT)

4. Phoneme / ¥ (1)

Correct Answer :-

« Phoneme / ¥ (1)



6) Permanent hardness of water is due to: /

W B RITH $ SRl BT BRI B:

1. CaCOs

2. Mg(NO3 ),

3. MgC12

4, Na2CO3

Correct Answer :-

. MgC12

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here,
the 20N and 50N are acting towards left and 30N is acting in the opposite direction. Now the
resultant force acting on the body is: /

TP S IHTd IR 7@ TP AT TR 20N, 30N SR 50N S T TA T 2120 N 3R 50
N,W?w?msonmﬁW?lﬁwwwﬁmMW

1. 40N towards right / [y 3R 40 N
2. 40N towards left / §TT 3R 40 N
3. 40N in the downward direction / EiCkl GhT 40 N

4. 100N towards left / §TE 3R 100 N

Correct Answer :-

« 40N towards left / 9T 3R 40 N

8) Ultra microscope is set up based on which property of colloids. /

CTT AISHIRDIY BIdsS & b 0T & ATUR TR R frar man g1
1. Brownian movement / ST3{=a- TTfdl

2. Tyndall effect / fded uura

3. Electrophoresis / aqud?Ul NERE

4. Coagulation / STHId

Correct Answer :-

+ Tyndall effect / fded uura



9) is the only mode of heat transfer which doesn’t require a material medium. /

5 THHTH S SAT RITHIARUT BT a1 8 Foras armlt #reaw &) srazasdr T81 gl
|

1. Convection / g
2. Heat pumping / \HBHI gfe
3. Conduction / dleld
4. Radiation / fafur

Correct Answer :-

« Radiation / fafezuor

10) If the amplitude of vibration is increased to three times of its initial value, then the
loudness of sound will: /

gfe HUA F AT B 39b URIIS Ted & i A1 a& ge1 far oirar &, i afy
waoar gRM:

1. be doubled / & TFT

2. be six times of its original value / 30 dRdAfd® A BT ST :

3. become three times of its original value / 304 aRdfdd A &I i AT
4. become nine times of its original value/ 3= dRdfd® A &I il AT

Correct Answer :-

. become nine times of its original value/ 30 ARdA® AT BT A1 AT

11) In an electrical cell , the energy is stored as:

% fagga Aa , ol 3t 39 =0 A G fvar wiran &:
1. Charges / TR

2. Heat energy / \HBHI ol

3. Chemical energy / IS Sl

4. Nuclear energy / UXHIUJ SHoll

Correct Answer :-

+ Chemical energy / NS Sl



12) Select the statement which is not true: /

S HYF BT 999 I ol 9 51 o

1. Sound travels faster in metal than in air. / &I, arg DI 30&r Yrd o TSt & e el g
2. Sound can be easily propagated through vacuum. /

fata & Areaw § eafy ATt T uaId &1 51 b ol

3. Sound can be produced by the vibrating air column. / Gﬁlﬁ, $UA a1 WY gRT IdTfad forar o
REI

4. Sound can be propagated through any medium. / f&at +ff A1e09 ¥ eafv S 9
TR P Sl Tehal g

Correct Answer :-

« Sound can be easily propagated through vacuum. /

fata & Areaw § afy Mt T yaId &1 5 Ibalt ol

13) Select the pair of forces which are non-contact force: /

3 Tl & T BT I99 B, Sl SRYY (A-Plede) T4 8

1. Magnetic force and electrostatic force / W g 3R fRR a?fﬁﬁ EN|
2. Muscular force and magnetic force / o=t 56 3R W EN)

3. Muscular force and frictional force / U= §& 3R G107 &/

4. Electrostatic force and frictional force /fRR a?{],?[ § 3R g0

Correct Answer :-

« Magnetic force and electrostatic force / W §d 3R RR agﬂ?‘[ ocl

14) In which one of the following cases will Common salt dissolve in water most readily? /
fFrafafea 9 & fow Rufa & JryRo Toe ot § 9o araar 3 faaflya g smeme
1. 10gm of Ice at 0°C / 0° TR W 10 UH %

2. 10 ml of water at 90°C / 900 TfTTH WR 10 fHeliciier od
3. 10 ml of water at room temperature / HIH-I dTYHIT U 10 fircitefier S
4. 10 ml of Ice cold water/aﬁ_o%ﬁi?fﬁ 10 Toeidex

Correct Answer :-

« 10 ml of water at 90°C / 900@'@?1?11? 10 forefiefier o1



15) Alternating current is not used in: /
UdTadl YRT BT IUURT 394 T8 forar S 8:
1. Transformers / Q'IFEI'T\IﬁT

2. Electric heaters / ﬁ?{ﬂﬂ dlUdh

3. Electric geysers / ﬁﬂ'ﬁﬂ TfioR

4. Electro plating / ﬁ_c(fﬂﬁ L]

Correct Answer :-

« Electro plating / [dggd oA

16) The process of conversion of water vapour into liquid is called: /
el AT & 59 H FUTaRUI $1 Ui Heardl ¢:

1. Sublimation / $&ITTd

2. Condensation / G-

3. Melting / Tl

4. Fusion / IRIYOT

Correct Answer :-

« Condensation / g

17) During rainy season the rain water goes deep down into the earth passing through
different layers of soil.

Which one of the following processes does not occur during rain water seepage into the soil? /

mg%ﬁwﬁmmwﬁﬁ@%ﬁﬁmuﬁﬁwﬁ@q@ﬁﬂmiﬁw
ST 3|

IR & it & i) # feara & SR fafafaa o & o <t ufear 78 afea gidt 32
1. Filtration / FrdeA
2. Sedimentation / 3{ddTq

3. Distillation / HTEHdT
4. Decantation / FREIROT

Correct Answer :-



« Distillation / 3THdT

18) The commercial unit of energy is expressed in terms of: /
Sl o aTfoTfod® P18 31 Udl | oG $i ATl &:

1. Nm

2. kW

3. Joule

4. kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to
heat radiation? /

fFrafafad 7 @ $19 A Tag ST fafeo & Jud A 3 IR S0 I $H ST Sl &I
STNRT B B2

1. Surface coated with white paint / “vTa?_C{ te 4 afud ddoe

2. Surface coated with red paint / ¢Il¢l Ue I afud dde

3. Surface coated with black paint / FTd Ue I afud Hde

4. Surface coated with dark green paint / 78X g Uc ¥ @fUd Ide

Correct Answer :-

« Surface coated with white paint / b Ue I dfud gdg

20) Which of the following combinations are most suitable for composite fish culture? /

i3 aeguTes & e Fafefeaa o | &1 91 Jaee 969 Suge 82
1. Middle zone feeders and bottom feeders / H& \_rn:[ el ] SlcH Bl

2. Surface feeders only / abdﬂ ddo e

3. Surface feeders,middle zone feeders and bottom feeders / Tdg BISY, AL WF HIe
T4 dicH Hie

4. Surface feeders and bottom feeders / 9dg HISx Ud SicH IS

Correct Answer :-



. Surface feeders,middle zone feeders and bottom feeders / T8 WIS, HE Sl HIS

\J

Td dlcH BIgR

21) Which of the following natural phenomena cannot be predicted accurately? /

Frafafea o 3 f5a wefas ge1 9t 9t yfdwarmntt 78 @1 o gadt 82
1. Lightning / foroTeft
2. Thunderstorm / 3T iﬁ—w

3. Earthquakes / P H]

4, Cyclones / déhdld

Correct Answer :-

« Earthquakes / HhH]

22) Which of the following is not an animal protein? /

Frafafea ¥ w1 ve sha w78 82
1. Wool /

2. Silk / M

3. Milk / QY

4. Pulses / &I

Correct Answer :-

« Pulses / &I

23) Which of the following is not related to sound? /
frrafefae & @ B9 a1 wafy A dafta T @

1. Frequency / &ﬂq%

2. Microphone / ngaﬂtbﬁ?

3. Loud speaker / dI3S iR
4. Myopia / A

Correct Answer :-

« Myopia / RO



24) Which is not a major advantage of Crop Rotation? /
frafafe & Q «n waa sirad &1 4T a1y 81 82

1. Additional use of fertilizers / SAXP] BT HTARTT TN

2. Conservation of soil productivity / &I TG dl DT AI&TUT
3. Weed control / WRUAAR HI=0T

4. Increased yield / 3UST § q@

Correct Answer :-

« Additional use of fertilizers / 3a%p] BT MfaRad STINT

25) Choose the incorrect physical property of non-metals. /
SreTgat & Srgfra Wfae ur &1 T B

1. Generally they have low density. / HTHII: Ydcd dhH 6\Idl %I

2. They are not sonorous. / SlIEEE 7-|_59[ E':Ia %I

3. They are brittle in nature. / EITI%T o lFR Eﬂ?{ %I
4, They have high tensile strength. / 3= d=Idl &HdI @?ﬂ %I

Correct Answer :-

« They have high tensile strength. / 3= d=ddl &HdI Eﬁ?ﬂ %I

26) Choose the incorrect statement among the following: /
e o 3 srgfud aoas &1 999 B
1. Potassium is always stored in water. / qﬁﬁmﬂ &l Eﬁ?ﬂ Ut | @7 SITen % |
2. Potassium can be cut easily with a knife. / @%&I’Cﬂ:{ U <P I ST @f DICT Sl b dl %I
3. Potassium reacts with dilute acids to produce hydrogen gas. /
BIZS IS T &1 ST B o [o1g UIeREH a 3 & 1Y ififehar sar g

4. Potassium when burnt in oxygen forms its oxide. /

RIS | T ST TR Ui R &7 3HTaaTss 9d1 g |

Correct Answer :-

 Potassium is always stored in water. / TrefRry &t AR g H 34T St %’ I



When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2 cm,
then the stored energy will be increased by: /

o9 T HHIL DI 2 AH a difrd fpar sirar 8, a9 599 1000 ot Sufgd giar g, afe 39
2 At 3R 3R arfia v <iTe &, a9 |ugid Sut o farat gig gift:

1. 400J
2. 100J
3.300J
4.200J

Correct Answer :-

« 300J

28) Out of the following options, select the correct relation for the electric power. /

fFrafafed faee | 9, fagga wfda & fore w8t "9y &1 997 &4

1. P =V/R?
2.P=V3R
3.P=1/R?
4.P=1*R

Correct Answer :-
« P=VZR

29) An olfactory indicator among the following is: /

g & da v T gEe B
1. Phenolphthalein / BRI

2. Soap / HIg-
3. Clove /Fﬁ"T

4. Turmeric / 6ﬁ|

Correct Answer :-

« Clove /@It

30) The SI unit for measurement of length is: /



oS B A9 F U SI TS ©:
1. Millimeter / freiiHiex

2. Kilometer / fabefidfieR

3. Centimeter / STHICR

4. Meter / Hlex

Correct Answer :-

e Meter/ 1:“3?

31) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

gfe ®1g faemdf Tt weal &1 ITuhT H3F aifhe Tde g9rH- fHd v o qd-geer ¢4 o gem
%,a‘ragﬁmﬁ'v&m%:

1. Drawing conclusions / frpy fRepTer

2. Observation / AdIH

3. Experimentation / TR

4. Providing explanation / TISIHRUT UG HRAl

Correct Answer :-

« Drawing conclusions / fsY fRaTeT

32) What is mineral oil? /

Qe dd T 82

1. A mixture of glycolipids / TARHIATUS BT U 0T

2. A mixture of hydrocarbons / E'IB@WI‘_S&P[ D[ Uh oy

3. A mixture of lipids and minerals / fafoet ik @i & U A
4. A mixture of water and oil / Tt 3R Od &bl Udh g

Correct Answer :-

« A mixture of hydrocarbons / B@m D[ Uh forgor

33) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfe afy &t emgfxy 2.5 fraieds § ik avvewd 20 At & i 31 5 frh &Y aen &
ﬁo—cmmaﬁm,mﬁ?



1.2.55/2.5 4bs
2.20s /20 YHs
3.10s / 10 b8
4.15s/ 15 b

Correct Answer :-

. 10s/10 AHS

34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

1 &yl iR g egfa) &1 ST SaHSIH/URe & Icure | fbar Sirar g 1 g9d
IUAH il Bl IS H B AP a1d dcd 1 UgdH B |

1. Carboxylic acid / CACIERIINEREE
2. Alkali / 3feehait

3. Mild acid / Gedhl 3T

4. Salts / ¢IdU[

Correct Answer :-

« Alkali / 3chalt

35) CANCELLED

is not an organic acid. /

TS SAPTa-Iep 3T T8I 2
1. Oxalic acid / 3fiRITeTeh 31T
2. Acetic acid / Qﬁl’% 3T
3. Formic acid / ITH® 3
4. Carbonic acid / PTHD 3T

Correct Answer :-

« Carbonic acid / W 3T

36) CANCELLED

If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the
relation



F =X(mv)/ (1 +Y) are respectively /

%‘EFW% ‘m’ GO 8 3R v’ A8, @l F = X(mv) P FaY H X’ 3R Y’ & 3™

L. T,T!
2. LT, T2

3. T'l, dimensionless / T'l, &ﬂ'quﬂ:f
4, dimensionless, T / 3‘|Tqm_6ﬂ:[, T

Correct Answer :-

« T, dimensionless / T"!, S{RATHGI

37) CANCELLED

Identify the correct set of isotones among the following options. /

frafafed fewe d 9 wawiTfe & Sfrd A o ugar $11

15 16
1 2N and 30

16 18
a0 and 50
40 40
spla and 7K
19Ar and 5K

Correct Answer :-
15 16
2N and 30

38) CANCELLED
Which of the following statement is true: /
fFafafea A A s aTHYTad §:

1. Thrust is the force acting normally on a surface. / &Y U qdg IR I 29 ¥ HH B arall
EGK]

2. Pressure is directly proportional to the area. / GdId, THA & T &I'IHCITW %I



3. As thrust increases pressure decreases. / STH-oIY &Y ¢l & GoId HH gIdT Sl 5 |

4. Pressure is inversely proportional to force applied. / GTd, 9N §d & fdusld Srdrfds
gl

Correct Answer :-

« Thrust is the force acting normally on a surface. / & Uth Jdg W AH ¥U Y HIH HA aTdl
IAgI

39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
s 99 72 frii/ger 9t nfa @ 9« 38 8, 39! afa & §t/3 & uRafda a3

1. 10m/s / 10 HIA

2. 720m/s / 72 W/

3. 30m/s / 30 Hi/A

4. 20m/s / 20 HIA

Correct Answer :-

. 20m/s /20 TR

40) CANCELLED

Which one of the organisms mentioned below is a herbivore ?/
= gfofa Sital # ¥ #19 v e Rl 82

1. Shark / QT

2. Peacock / HR

3. Frog / ﬁﬁ

4. Mouse / ggl

Correct Answer :-

« Mouse / JgTl

41) CANCELLED

Which one of the following factors will change the magnitude of Equilibrium constant for
the following reaction?

N2(g) + 3Hz(g) = 2NH3(g) /



ﬁaﬁaﬁaﬁﬁﬁﬁmwmeﬂm%mww% gf¥Tor HY
dod 32

N2(g) + 3Hz(g) = 2NH3z(g)

1. Use of finely powdered Iron catalyst / IRI® ﬂ:Uf Q1RI6 RSP BT YN

2. Decrease in the pressure of No(g) / No(g) & gara o ol
3. Increase in Temperature of the reaction / 3{{HfehaT o Ao o Q@
4. Concentration of Reactants / 3TN&GH®! DI Higdl

Correct Answer :-

« Increase in Temperature of the reaction / 3fYfehar & qrue | ?{@

42) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

frafifaa & @ $19 Rieor-Sifirm & 5E WA Aisd o1 R 761 82
1. Engage / Fer (WS

2. Elaborate /[a%qd ( Tallsi)

3. Enhance / 98X ( T ¥)

4. Explain / UK (Ta@IH)

Correct Answer :-

« Enhance / S8R ( TgY)

43) Which of the following is not a characteristic of a good textbook? /
Frafafed ¥ @ o9 @t te st ureagws & faxivar 181 82

1. It may not cover the entire syllabus of one stage. / g Udh TRT] & Ef\" qTaushH &l iferd gl
I Faelt g

2. It is a finished product for transferring the knowledge. / dg 3T & S%didQUI & ﬁ‘l'q TUdh ém?
IdE g

3. It should not be self-contained. / Jg gt 7 3 afefera qﬁ%ﬁ:ﬁ aT%'QI
4. It may not be necessarily for a whole year. / 98 T& QR a9 & foU 3Taxge® &l &1 ¥t g |

Correct Answer :-

« It is a finished product for transferring the knowledge. / g A4 o GEITARUT & folT T GEIN
3dG g



44) Which of the following is an objective for teaching students of higher primary level
(V, V1, VII)? /

3= YT WR (V, VI, VII) & ST & g & fore FafafRa A 3 s Stxa 82
1. Development of understanding of laws, concepts and principles /
g, sraurumsh 3R Rigidl &1 gHe &1 fasr |
2. Development of power of reasoning / SCaCARIESCIREEAR]
3. Development of practical outlook / AaGIRS VDIV B fabM|

4. Development of interest in reading scientific literature / ésnﬁw Tifed udﬁ T =iy &1 fdem |

Correct Answer :-

« Development of power of reasoning / SECARIESCIREEAR]

45) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AH-M-I5s (fESian) o1 Ieevu FufafEa # ¥ F19 @ ae saurRon &) o o JHoE &
fere swuTe faear o 9ear 82

1. Oscillatory motion / a-lﬂ:lQ“FI |
2. Rotation of Earth / q?ﬁf 2l ‘ELUT:[

3. Gravity / [
4. Centripetal force / 353”‘14133_9' EN}

Correct Answer :-

« Centripetal force / 353”‘1411'{_9' EN}

46) Clinical thermometer is designed to measure the: /
A yuaiHier &) fHA A & fore fEwmg= far mar @:

1. Temperature of the chemicals used in the clinic / FailAd o YUY G BT dATGH

2. Temperature outside the clinic/ FAH & dlex dIgHmq
3. Temperature inside the clinic / Fi P & 3R drgaH
4. Temperature of the human body / HIFd YRR BT dTgHH

Correct Answer :-

o Temperature of the human body / HIHd YRR &1 dUHH



47) What is the duration of kharif crops? /
GG wHAl Bt Saf FaT 32

1. June to October / S ¥ 3fagar

2. March to September / A ¥ fdeR

3. October to March / 3{agaR T O

4. November to April / TR ¥ 30d

Correct Answer :-

+ June to October / ST | SfagdX

48) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TS a3 U UNTT 9Y TR 30 Ahs A 120 URHHUN &) [T Hel 71 39 3af & forw
P! IR BT U 2:

1. 1:4
2.1:2
3. 16:1
4. 4:1

Correct Answer :-

. l6:1

49) The force acting on the bullet when it moves through the air towards a
target is: /

o W T 9191 9, 9 89T A 31 B 3R &7 ¢ O 78T 3:
1. Force due to the gun/wa?waﬁ

2. Gravitational force alone / 3{dbdl ‘\lb(dld)@ ocl
3. Gravitational force and frictional force. / W&UT 9 3R gur §9|
4. Frictional force alone / 3 d THUT S

Correct Answer :-

« Gravitational force and frictional force. / Wﬁﬁﬂ I 3R 0T 9T |

50) Expanding and cooling of hot air results in: /



TH a1 &1 fawar iR <fae fe § & fasaet ufvoma giar 3:
1. Condensation / §&=

2. Vapourisation / CILY G

3. Hail storm / ficayor

4. Precipitation / 3@aquy

Correct Answer :-

« Condensation / g9

51) The radiations absorbed by ozone are: /
SIS gIRT Sraxnfia fafdor &

1. Ultraviolet rays / RIS fot

2. Infra red rays / 3{dRdd fp0l

3. Gamma rays / 7THI fopol

4, X-rays / THRI-Y

Correct Answer :-

+ Ultraviolet rays / RIS fpot

52) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

U e sarEn ¢d @ f6 v & SR, e A Siftres faftra) &1 SuahT s ufvomay
P FTfud 5T ST HehdT 81 SHA AP WU B B fIwar &1 1w giar 82

1. Critical thinking / 781 feia
2. Open-mindedness / TEURITEA

3. Respect for evidence / HI&I & 1?112 HHTH
4. Logical thinking / difde fefam

Correct Answer :-

« Critical thinking / T8 feidH

53) For a person suffering from hypermetropia, the image of the object is
formed: /

el Qv A fifsa ve aufe ¥ g avg &1 ufafde a1 a9 8:



1. Behind the retina / 3¢ & Uiy

2. In front of the retina / X{CHT & ATHA
3. On the retina / ST TR

4. On the eye lens / TR

Correct Answer :-

« Behind the retina / ilé:ll % tﬁ%

54) Glucose drip is usually given to a physically weak patient because: /
@IS U AMHAR W ARG 9 J FHER W11 $i {01 Srar g wifd:

1. He is not drinking enough water. / 8 UaTW oIdf Tg U1 XgT ST |

2. Dehydration can be prevented. / I fASIeUT & BT S bl B |

3. It readily gets absorbed for energy. / I8 TRAdT ¥ FHoll P foIQ AT g ST 2

4. He gets a balanced diet. / 98 393 Iqferd 3MER UTdT B

Correct Answer :-

. It readily gets absorbed for energy. / T8 TR T FHoll & T TNV & W1

55) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gfe Ugd Uy ® SMufad 1T gk ATeAH | SUad & IV & YU g, <t ATeqH &1
qul 3(Uacd GAPIP o:

1.1.33
2. 1.1
3. 1.0

4. 1.5

Correct Answer :-

56) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

W= fow T yeryf # & BT 91 3wl wRd & 3raeg & e Icver! T8 82



1. Carbon tetra chloride / STa CCTHRINISS
2. Ammonia / I

3. Aerosols / TR
4. Chlorofluoro carbons / FIRIHISARIGTE

Correct Answer :-

. Ammonia / 3T

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

Tepape-aat uraq ueh, 7w o fafky ©u & wi Iares & forg urelt @ 3:
1. Rhode Island / IS \3113%3'
2. Turkey / U yeft

3. Broilers / aﬁsa?
4, Ducks / d19d

Correct Answer :-

» Broilers / an%a“\f

58) Unambiguous instructions are always required for: /

1. Long Answer type questions ) ETY SR Uy

2. Supply type objective questions / U] (HTQ;H) UHR & argﬁg Uy
3. Selection type objective questions / I YhX & aﬁﬁg U4

4. Short Answer type questions / €Y IR Ty

Correct Answer :-

« Selection type objective questions / Y UDPR & ?ﬂﬁﬁg U4

59) Fishes live in water. It is their natural Use the right biological term. /
woferat, U # Yl ¥ 1 a8 3% Urpfas 2| SUYF AP WUsg T AN He |
1. Home / Y}

2. Habitat / 3{TdTH



3. Environment / dTdTdRUT
4. living space / G BT -

Correct Answer :-

» Habitat / ATdTH

60) Which of the following topics clearly demonstrates the interdisciplinary

nature of science? / fFrafeifad & A <19 1 fAvg Wy U A fag= #t sRfdvgs
UPHfa B gRIfdT 82

1. Colloids / IS

2. Evolution / 3&d

3. Programming / ELIREE @TIT&ITD
4, Astronomy / e o=

Correct Answer :-

 Astronomy / T fae



